N 2 0l & AF S E A A
POI0E S Z0IAr 2BHSIH SAFMY ~ BB
SN ERTHY
o HIISNESSHADE(HS2S/HIIZ)
Sl HOIZH2IA S &R ALY (25 &2
SA-EFH - SA(SAH) - MREAY - BES Off &F K %Eﬁiﬁ Hws2
B2 F DY 52,618,375 42,644,973 9,973,402
= 30,782,600
=l 8,900,000
& 12,935,775
HOIZXH =S AH TS (2L 2S/HIIS) 31,102,575 20,768,960 10,333,615
= 29,081,000
= 2,021,575
HOI2 %2l Al & & X AFeS 20,381,000 2,531,000 7,850,000
= 8,981,000
= 1,400,000
M3H| | I A OH Y AL S & K ALY 3,507,000 3,020,000 487,000
= 3,507,000
403 THXIEHAIS KH2 0l 3,507,000 3,020,000 487,000
= 3,507,000
01 RXISHK=EE 3,507,000 3,020,000 487,000
WP TP EPNPEREBAPAR:S 3,507,000
= 3,507,000
Bl SI A4 0N 21 Al & F HI ALY 1,960,000 1,050,000 910,000
= 1,960,000
403 RHXISHSRZ0IH 1,960,000 1,050,000 910,000
= 1,960,000
01 MXSHRZRE 1,960,000 1,050,000 910,000
U191 O0H 2 Al S R Bl ALY 1,960,000
= 1,960,000
SHEHIISEE M2l Al L& AL 2,400,000 2,550,000 150,000
= 2,400,000
403 THXIEHRIS KH 0] 2,400,000 2,550,000 150,000
= 2,400,000
01 XIS X2 X 2,400,000 2,550,000 150,000
Os0EHIISSE H2lA & &R A 2,400,000
= 2,400,000
M| ] A 2EAI & & X AL 1,870,000 4,656,000 A2,786,000
= 1,870,000
403 THXIEHAIS KH 0l 1,870,000 4,656,000 ~2,786,000
= 1,870,000
01 RXISHHIK= 2 X 1,870,000 4,656,000 ~2,786,000
O] A2 A& & XA 1,870,000
= 1,870,000
SOEHIISEE M2l AIL & X AL 600,000 400,000 200,000
403 XS HSKZ0IH 600,000 400,000 200,000
01 MXSHRZEE 600,000 400,000 200,000
Os0HEHIISSs X2l L& X A 600,000
M| ] A 2EAI & & X ALY 600,000 600,000 0




SN BRI

Hu: HOISNE=SHHPS(BZRS/HII2)
Sel: HIIS Ml AL & X ALY (eel: @2
_ _ _ Muo
SH-EFHHA(FA) - NIRAE - BES Of] koK '@,‘;OH Hws2
403 XX SHHST=20/& 600,000 600,000 0
01 MXSHX=EE 600,000 600,000 0
MY AZEAIE & XA 600,000
AEMY I A2UAIE S XA 5,000,000 0 5,000,000
= 5,000,000
403 XX SHHIS =0/ & 5,000,000 0 5,000,000
= 5,000,000
01 MXSHX2EE 5,000,000 0 5,000,000
WMEESVE DI PETYNPEPEP (R 5,000,000
= 5,000,000
TOIMY I A2AIE & X ALY 4,244,000 0 4,244,000
= 4,244,000
403 XXISHS K 20| & 4,244,000 0 4,244,000
= 4,244,000
01 MXSHX=EE 4,244,000 0 4,244,000
OR0I M| A2 AIE S XA 4,244,000
= 4,244,000
M ] A OH R Al & X AFS 200,000 0 200,000
403 XXISHS K 20| & 200,000 0 200,000
01 MXSHK=EX 200,000 0 200,000
(M| 91 A 0K Al & & X A 200,000
HoI2MEEYSAZ Hel 1,516,575 3,677,960 2,161,385
= 900,000
= 616,575
ZZERIIUAILEE 900,000 1,644,000 744,000
= 900,000
403 XtXISHSRH=0IH 900,000 1,644,000 AT744,000
= 900,000
01 MXSHK=EX 900,000 1,644,000 744,000
ORZHEE|SAILSHE ALY 900,000
= 900,000
Bs%2)| 242 A2H2X 2 130,000 113,000 17,000
307 QI2+0| 130,000 113,000 17,000
02 QIZBARE 130,000 113,000 17,000
OHs%8)g+aa222 X 130,000
HeEZ4+y2a23Xe 150,000 141,000 9,000
308 XHXICHHISOIH 150,000 141,000 9,000
01 MXSHBARES 150,000 141,000 9,000
= F= RS PN =L 150,000
SEUNHEHH LS SN2 300,000 300,000 0




SN BRI

B HIISNFESH AP (BLLS/HIIE)
S HOISHEELESA=E [l (¢t &
SA-EH O (BH) - HBAY - B2 0] Ak 21 gggf; HRS2

308 NAXHMSOIH 300,000 300,000 0

01 MXSHAHNENEXTS 300,000 300,000 0
OsEd M2 E=HEBIE-EE2MZ XA 300,000

HOIS2MHE2LSASHeFEF| 36,575 33,960 2,615

201 B3| 14,000 12,500 1,500

01 AtR2teldl 12,000 12,000 0
Oggt~EH| 9,000
OSAHABL X EAMFO! 9,000
Oexs 3,000
OSEIRERAIGAS XS X 3,000

02 ss2494l 2,000 500 1,500
(2222 HA 2,000
Ost=HII=8 3l 3l 2,000

202 (4 I 4,000 4,000 0

01 2| 4,000 4,000 0
OHIISHEsYLSASMAYIIHeER=E I 4,000

203 HR=&H| 8,000 7,000 1,000

03 ABFAHR2 =AY 8,000 7,000 1,000
OHIISHEEH 2L RFA 8,000

303 EAZ 575 460 115

01 Za2 575 460 115
OHIIZXH2 RSS2 A& 575

307 QIZ2to| A 10,000 10,000 0

05 QIZHREZ 10,000 10,000 0
OetEol YA ML TS 10,000

HO|I2 X SHALS 9,205,000 4,560,000 4,645,000
2 9,200,000
= 5,000

DNEASHNENSELHAEE XA 1,880,000 1,200,000 680,000
= 1,880,000

403 AXIEHMSA201A 1,880,000 1,200,000 680,000
= 1,880,000

01 AXIESHMAZ2EE 1,880,000 1,200,000 680,000
ONSASMSHNEELHAIEE XA 1,880,000
= 1,880,000

JIAAEHIISEH2IAIE 6,615,000 2,550,000 4,065,000
= 6,615,000

403 XMXISHHSK=20H 6,615,000 2,550,000 4,065,000
= 6,615,000

01 XXISHMA2E X 6,615,000 2,550,000 4,065,000




SN BAZHD
o HIISNEESHATE (RS SS/HIIZ)

S HIISHJASALSY (¢t &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
(DI AEHIISNE el AlE & X AFY 6,615,000
= 6,615,000
SH=HIOIIIASIAIA 705,000 0 705,000
= 705,000
403 MXISHHSA201H 705,000 0 705,000
= 705,000
01 AIXSHHMA2ER 705,000 0 705,000
COSHHI0IIIASIAIE & X AFY 705,000
= 705,000
MDAl & XA =& A 5,000 0 5,000
202 044l 5,000 0 5,000
01 2| 5,000 0 5,000
OMY I HelAE A X ANE =& O I 5,000
SN ESEAXTL (BEES/UDI) 2,246,030 3,577,324 1,331,294
= 1,462,600
== 783,430
NS XN Sl SALS 1,048,250 2,523,500 AN 1,475,250
= 697,500
= 350,750
HMHEAIIAXENES 936,750 2,376,000 1,439,250
= 624,500
= 312,250
403 XX SHHSA=201H 936,750 2,376,000 A 1,439,250
= 624,500
= 312,250
01 AXSHMA2EE 936,750 2,376,000 1,439,250
O AHINAXNS IS 936,750
= 624,500
= 312,250
ANsEXHH 203 =& A3 ] 2,000 2,000 0
202 04| 2,000 2,000 0
01 2 2,000 2,000 0
OXNSIHMHZBolat LI EHGIAIY =& H 2,000
HAIA XN SHAZH XA 109,500 145,500 A 36,000
= 73,000
== 36,500
308 XMXSHHSOIN 109,500 145,500 A 36,000
= 73,000
= 36,500
01 MXSHAHBNEZS 109,500 145,500 A 36,000
OFANATSAHAHAZH XA 109,500
= 73,000
= 36,500
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2A: BEEH
Mz ot NIjEstetAXI S (8EES/U0)
Gt BEIE=E 2| CEEREED
_ _ HE
2N -3 - c2(3H) - NEME - HES Ol &F2H ‘Oﬂ/i\_Fo” Hns
12 JIEtE A= 7,000 6,000 1,000
Ot neEAZ(10A) 3,000
OoI2tolsr S8 A= 4,000
303 ZAS 460 460 0
01 Za2 460 460 0
OHELALEFTIRSSRAAIA 460
405 Kot SHI 1,000 3,000 A2,000
01 HAMLEEFHSHI 1,000 3,000 A2,000
OHEgAstF A C=ZIH 2 1,000
|getd el K& 20,000 20,000 0
307 QI2tolA 20,000 20,000 0
02 QIZtBAE X 20,000 20,000 0
olgergd &2e X 20,000
OB EAIE2 P 2K el 8,000 8,000 0
202 04 d| 8,000 8,000 0
01 2LH0 bl 8,000 8,000 0
OCHOIBHES AN 0L R FR Y| 8,000
=S AHAXISCH I I &AL 240,120 240,000 120
= 200,100
= 40,020
403 XXISHHSK=20lH 240,120 240,000 120
= 200,100
= 40,020
01 MXESMA=2EXR 240,120 240,000 120
ONsAHUEX(SAIIGUHIISZNA) 240,120
= 200, 100
= 40,020
=2EJAALAAAHRS 217,500 225,164 N7 ,664
= 174,000
= 43,500
403 XXISHMSK201H 217,500 50,000 167,500
= 174,000
= 43,500
01 AMXESMA=2EER 217,500 50,000 167,500
O2sASSHIDIEXNYLE 22U SX A 217,500
= 174,000
< 43,500
JlzHslg2US 297,500 370,000 AT2,500
= 175,000
= 122,500
JIZHSIHSSEUHM 8 25,000 150,000 A 125,000
= 25,000




SN BATHY
5t

NB: QNHNBBALL(BHES/H)
ool DSBS (==L
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH 'oﬂ/'\_WH Hlws2

308 XHXIEHHI SO 25,000 0 25,000
= 25,000

SR ELERCES 25,000 0 25,000
oIS Hst S Ea 248 25,000
= 25,000

S2NHN 018A HX 45,000 0 45,000
= 30,000
= 15,000

403 KHXIGHHS K20 H 45,000 0 45,000
= 30,000
< 15,000

01 TXISHHT =2 45,000 0 45,000
022X SALX 45,000
= 30,000
= 15,000

JRIABESS B4 @ J2d 2E X 227,500 0 227,500
=2 120,000
= 107,500

201 Lsr2 Yyl 38,000 0 38,000
= 19,000
= 19,000

01 AL 2| 38,000 0 38,000
OORIAEIEARES 38,000
= 19,000
= 19,000

301 LstEAD 72,000 0 72,000
= 36,000
= 36,000

12 JIEE A2 72,000 0 72,000
BN 72,000
= 36,000
= 36,000

307 QI2+0|H 80,000 0 80,000
= 40,000
= 40,000

02 QIZHAAEE 80,000 0 80,000
OORIAEIE A ® ALY 80,000
=2 40,000
= 40,000

308 XHXIEHHI SO 37,500 0 37,500
= 25,000
= 12,500

01 UXSHBALSE 37,500 0 37,500
OORAEBIEANES ALK 2 37,500
= 25,000




SN BAZ MDY
By S DHNSHBAEL (BFRS/0II)
ol I SHBEAS (92
_ _ _ Muo
SN -BH - S(B) - MRAY - BES O &t 04 il b o HRE2
[T] < 12,500
NHSRRH - 2R YSHEARS/N ) 13,768,000 13,739,000 29,000
2 24,000
z 8,900,000
= 4,844,000
MM BRE S 12,280,000 12,202,000 78,000
2 8,900,000
= 3,380,000
ZHEINGMHTRES 390,000 1,170,000 780,000
z 300,000
= 90,000
403 THXIEHRIS KH 0] 390,000 1,170,000 780,000
z 300,000
= 90,000
01 XSHA=EE 390,000 1,170,000 780,000
DESSYMEHBREY 390,000
z 300,000
= 90,000
AFEHMEHTRES 1,105,000 585,000 520,000
z 850,000
= 255,000
403 THXIEHRIS Kb 0] 1,105,000 585,000 520,000
z 850,000
= 255,000
01 XSHA=EE 1,105,000 585,000 520,000
DMFSHMBBRTY 1,105,000
z 850,000
= 255,000
MM BTSSR B 10,000 8,000 2,000
202 01t 4,000 2,000 2,000
01 2Uhoit] 4,000 2,000 2,000
mp =P E=L E LI 4,000
203 REZH| 6,000 6,000 0
03 AMEXYREXY| 6,000 6,000 0
ORI S BREL A 6,000
AFBHCYDIAXH 390,000 260,000 30,000
z 300,000
= 90,000
403 XXM SXHOIH 390,000 260,000 130,000
z 300,000
= 90,000
01 RSHA=RE 390,000 260,000 130,000
DPFFCYBIATY 390,000
z 300,000




SN BATHY

HH: OSALEH - BRALSHBALS/ M)
Sl KON BRI R (ctol: @
o SIEN
SN FE SR (BIH) - HRAY - BES 01l &+ o il ot o {imE=Eh

| < 90,000

LHASZ MDA 1,170,000 247,000 923,000
= 900,000
= 270,000

403 XIS HS =0l M 1,170,000 247,000 923,000
2 900,000
= 270,000

01 RXSHHR=LE 1,170,000 247,000 923,000
OLHASZ BT 1,170,000
= 900,000
< 270,000

TOIRI A 2 M EH BRI A 130,000 195,000 65,000
= 100,000
= 30,000

403 XX S HS K20l M 130,000 195,000 65,000
2 100,000
= 30,000

01 MRS =LE 130,000 195,000 65,000
OR0IX AL MR ES 130,000
= 100,000
< 30,000

HAHSY LM ESZEY 520,000 1,040,000 520,000
= 400,000
= 120,000

403 XIS HS =01 M 520,000 1,040,000 520,000
= 400,000
= 120,000

01 HXISHR=LEE 520,000 1,040,000 520,000
DAL ML AMH S S ZES 520,000
= 400,000
= 120,000

OHEWETAXH 780,000 390,000 390,000
z 600,000
< 180,000

403 X SHH S K20l & 780,000 390,000 390,000
2 600,000
= 180,000

01 XtXISAREE =X 780,000 390,000 390,000
(O EHI2ATA 780,000
= 600,000
= 180,000

Gl HME A S MR RS 1,480,000 300,000 1,180,000
= 600,000
= 880,000

403 T SHH S K20l F 1,480,000 300,000 1,180,000
= 600,000

|
©
|




SN BFIUDY
o NHESRRH 2L (HALS/NA)
Sol XM B EY (erel: @ 2
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
< 880,000
01 RXESHMA=LE 1,480,000 300,000 1,180,000
DA D EMEHR TS 1,480,000
2 600,000
= 880,000
FOSSNNAMHZ AT 780,000 650,000 130,000
= 600,000
= 180,000
403 XHXISHHIS AHE 01 & 780,000 650,000 130,000
= 600,000
= 180,000
01 RXESHIZEE 780,000 650,000 130,000
DRSS M ZATS 780,000
= 600,000
= 180,000
NFEUSAMEIMSMEI TS 520,000 650,000 130,000
= 400,000
= 120,000
403 XHXICHAI S KH= 0l & 520,000 650,000 130,000
= 400,000
= 120,000
01 RXESHIZEE 520,000 650,000 130,000
DA FSS YNBSS MEIES 520,000
= 400,000
= 120,000
DOMEBEEL LR Y= 910,000 1,950,000 A 1,040,000
= 700,000
= 210,000
403 XHXISHHISAH2 01 & 910,000 1,950,000 1,040,000
= 700,000
= 210,000
01 RXESHIZEE 910,000 1,950,000 A 1,040,000
(702U M BRAEY 910,000
= 700,000
< 210,000
Ol CEMCETIIZRA 1,560,000 0 1,560,000
= 1,200,000
= 360,000
403 XHXI A S KH= 0l & 1,560,000 0 1,560,000
= 1,200,000
= 360,000
01 RXESHIZEE 1,560,000 0 1,560,000
OSHSMETIREY 1,560,000
= 1,200,000
= 360,000




SN BATHY

HH: NOSASH - 2L (BALS/NN)
CHol: RIIMEBRIE S (Erel: &2
_ _ SIEN
A -3 -H2A(SH) - HEAMY - BES (il & OH @ﬂOH Hos

Az S MEIR T 104,000 0 104,000
2 80,000
= 24,000

403 X+XICHAI S KH= 0 & 104,000 0 104,000
2 80,000
= 24,000

01 RXESHMI2E 104,000 0 104,000
DAz st MEHZREY 104,000
2 80,000
= 24,000

2o NI ME Bt E R E A 130,000 0 130,000
2 100,000
= 30,000

403 XX CHAI S KH= 0l & 130,000 0 130,000
2 100,000
= 30,000

01 RXSHIZEE 130,000 0 130,000
CIZAX O MEN S 22 X A 130,000
2 100,000
= 30,000

o MEISHESESE TN 195,000 0 195,000
2 150,000
= 45,000

403 XHXISHHISKH= 0l & 195,000 0 195,000
2 150,000
= 45,000

01 RXSHX=EE 195,000 0 195,000
(o SNBSS s SR EA 195,000
2 150,000
= 45,000

oM %X MEISX XA 195,000 0 195,000
2 150,000
= 45,000

403 XtXISHHISKH= 0l & 195,000 0 195,000
2 150,000
= 45,000

01 RXSHX=EE 195,000 0 195,000
BEPEEISEEIE S 195,000
2 150,000
= 45,000

os ofitel MSMENIS E& 260,000 0 260,000
2 200,000
= 60,000

403 XHXISHHISKHE 0l & 260,000 0 260,000
2 200,000
= 60,000

_11_




SN BAYHD
M NS FEH - BRlLH(BHLS/N)
Sl KIIME TR EA (el &2
_ _ SIEN
SH-EH . C(BH) - NRAY - BES O AF o8 il b o bRz
01 KXISHAX=EE 260,000 0 260,000
BEPT B SERETEESE 260,000
z 200,000
= 60,000
T R NSMEZR T4 325,000 0 325,000
z 250,000
= 75,000
403 RHXISHH SR =0 325,000 0 325,000
z 250,000
= 75,000
01 KXISHA X2 X 325,000 0 325,000
BEEEE PGP ESE 325,000
z 250,000
= 75,000
HESHANHMEHDY X4 455,000 0 455,000
z 350,000
= 105,000
403 KX SIS KHE 0 455,000 0 455,000
z 350,000
= 105,000
01 KXISHAX=EE 455,000 0 455,000
OECSHANANHBAES 455,000
2 350,000
= 105,000
STMEHASRAES 871,000 0 871,000
z 670,000
= 201,000
403 KX SIS KHE 0l 871,000 0 871,000
z 670,000
= 201,000
01 RXISHHX=EE 871,000 0 871,000
OSTMHASAHTY 871,000
z 670,000
= 201,000
DAT XA ASSALS 1,006,000 795,000 211,000
SN UBATHIAY 400,000 200,000 200,000
403 KHXIEHAIS XHE 0 400,000 200,000 200,000
01 RXISHXZEE 400,000 200,000 200,000
O2QMCUBALIAL 400,000
SHMMEY ZAZHIAY 300,000 100,000 200,000
403 THXIEHRIS XH 0] 300,000 100,000 200,000
01 RXSHTZDE 300,000 100,000 200,000
OSZMU S BAZHIA 300,000

_12_




SNSRI

Ha: GHSYSH - 2olLSH(BBLS/X0)

Sl DA AR LSEAY (25l &2
(=] % ol (= (=] 1E- I|_-|LI;=|_||:_ =
SA-BH.C(BH) - HRAY - B Off &F 04 il i~ o Rz
HYMCYTAZHIAY 150,000 200,000 50,000

403 XHXISHAIS XH2 0/ H 150,000 200,000 50,000

01 XEXISHAIXH= 2 X 150,000 200,000 50,000
OMSMTYBAZYIAY 150,000

CYTASYHIN 150,000 90,000 60,000

308 XHXIEHHI SOl & 150,000 90,000 60,000

01 MXSHHZHSEZ 150,000 90,000 60,000
D82S X & 150,000

CYTA 29 6,000 2,000 4,000

201 Yere2o| 3,000 2,000 1,000

01 At 3,000 2,000 1,000
DA 22l 3,000
OZTAAsI2Y2Y 3,000

202 01t 3,000 0 3,000

01 2Ujoit] 3,000 0 3,000
CEDAIEHOY 3,000

B M S YR T 430,000 690,000 260,000

oY= ALY 430,000 690,000 260,000

201 Yer2 gyl 0,000 30,000 220,000

01 A2l 10,000 30,000 220,000
IIZ2ARSEL2 DA R 10,000

307 QI2H0|H 60,000 60,000 0

02 QIAYMBE 60,000 60,000 0
BEEERVISIZEpN= 30,000
(YL NASAT2 IS HY| X2 30,000

403 XX SIS KH= 0/ & 360,000 600,000 240,000

01 RIXSAKE 2 X 360,000 600,000 240,000
YU MEN S L2 UM =R A ALY 360,000

MECIYHO R H 52,000 52,000 0
= 24,000
= 28,000

MSCHUA BRI ALY 52,000 52,000 0
= 24,000
= 28,000

403 XX SIS KHZ 0 & 52,000 52,000 0
= 24,000
= 28,000

01 XEXISHHX =2 X 52,000 52,000 0
DM ST S 22| H ALY 52,000
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